Quiz #1 (CSE4190.667)

March 28, 2012 (Wednesday)

Name: Dept: ID No:

1. (10 points) Let four points be given by
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Setting t; = /3, find the three control points by, by, bs, for the quadratic Bézier
curve x(t), 0 < ¢ < 1, that interpolates x(0) = po and x(1) = p3, and minimizes the
following sum of squares:

Ix(t1) = pull® + [Ix(t2) — p2l*.
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(10 points) What is the cubic Bézier form of the following 3D curve segment corre-
sponding to ¢ € [0, 1], when the curve is given in monomial form by
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3. (5 points) Degree elevate the following quadratic curve to a cubic Bézier curve by
computing the four control points b;, for ¢ = 0,1, 2, 3:
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